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BOOKS - CAMBRIDGE MATHS (KANNADA ENGLISH)

PAIR OF LINEAR EQUATION IN TWO VARIABLES

1. Aftab tells his daughter, Seven years ago, | was seven times as old
as you were then. Also, three years from now, | shall be three times
as old as you will be. Is not this interesting? Represent this

situation algebraically and graphically.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OP40IiqZGSQF

2. The coach of a cricket team buys 3 bats and 6 balls for Rs 3900.
Later, she buys another bat and 2 more balls of the same kind for

Rs 1300. Represent this situation algebraically and geometrically.

o Watch Video Solution

3. The cost of 2kg of apples and 1kg of grapes on a day was found
to be Rs 160. After a month the cost of 4kg of apples and 2kg of
grapes is Rs300. Represent the situation algebrically and

geometrically.

o Watch Video Solution



https://dl.doubtnut.com/l/_xepEyJdvQFzT
https://dl.doubtnut.com/l/_GJlSheiOJiyD

1. From the pair of linear equations in the following and problems,
and find their solutions graphically.

10 students, of Class X took part in a Mathematics quiz. If the
number of girs is 4 more than the number of boys, find the number

of boys and girls who took part in the quiz.

o Watch Video Solution

2. Form the pair of linear equations in the following problems, and
find their solutions graphically.

5 pencils and 7pens together cost Rs 50 whereas 7 pencils and 5
pens together cost Rs46. Find the cost of one pencil and that of

one pen.

o Watch Video Solution



https://dl.doubtnut.com/l/_VjWcLLvZw1Pg
https://dl.doubtnut.com/l/_rNlVVoFfHYnX

: . a b c

3. On comparing the ratios —1, b—l and — find out whether the
2 02 C2

lines representing the following pairs of linear equations intersect

at a point are parallel or coincident:

5 —4dy+8=0,7x + 6y —9 =0

o Watch Video Solution

. . _ar b c
4. 0On comparing the ratios —1, — and = find out whether the
2 02 C2

following pair of linear equations are consistent, or inconsistent.

2r — 3y =8,4r — 6y =9

o Watch Video Solution

: . _a; b c
5. On comparing the ratios —1, L and 2L find out whether the
a 9 C2

following pair of linear equations are consistent, or inconsistent.

3r +2y=52x —3y="7



https://dl.doubtnut.com/l/_YU0DSRB46S2Z
https://dl.doubtnut.com/l/_jNsAKg2yhGuq
https://dl.doubtnut.com/l/_TOC1tdqnrAmf

| o Watch Video Solution

. . _ar b c
6. On comparing the ratios —1, b—l and c_l find out whether the
az 02 2

following pair of linear equations are consistent, or inconsistent.

2r — 3y =8,4r — 6y =9

o Watch Video Solution

. _a; b c
7. On comparing the ratios —1, L and 2L find out whether the
az by c2

following pair of linear equations are consistent, or inconsistent.

5 -|—5 =79 10y = 14
5515 gy—,x Yy =

° Watch Video Solution

: .ap b 1
8. On comparing the ratios —, — and — find out whether the
az b2 C2

following pair of linear equations are consistent, or inconsistent.


https://dl.doubtnut.com/l/_TOC1tdqnrAmf
https://dl.doubtnut.com/l/_4x927ViWfH7E
https://dl.doubtnut.com/l/_rF51nH4P23db
https://dl.doubtnut.com/l/_hyzBeY8hGjw2

S5z — 3y =11, — 10 — 10z + 6y = — 22

o Watch Video Solution

a; b c
9. On comparing the ratios —L 2L and X find out whether the
as by C2

following pair of linear equations are consistent, or inconsistent.

4
§w+2y=8,2w—|—2y:12

o Watch Video Solution

10. Which of the following pair of linear equations are
consistent/inconsistent? IF consistent, obtain and solution
graphically:

x+y=2>52zx+2y=10

o Watch Video Solution



https://dl.doubtnut.com/l/_hyzBeY8hGjw2
https://dl.doubtnut.com/l/_KKRrGhU2TMqm
https://dl.doubtnut.com/l/_Q7yBWdcP4Riy
https://dl.doubtnut.com/l/_kJbxe4R74jth

1. Which of the following pair of linear equations are
consistent/inconsistent? IF consistent, obtain and solution
graphically:

z—y=283x —3y =16

o Watch Video Solution

12. Which of the following pair of linear equations are
consistent/inconsistent? IF consistent, obtain and solution
graphically:

2r +y—6=0,4z —2y—4 =20

° Watch Video Solution

13. Which of the following pair of linear equations are

consistent/inconsistent? IF consistent, obtain and solution


https://dl.doubtnut.com/l/_kJbxe4R74jth
https://dl.doubtnut.com/l/_34YT98Naq5Pu
https://dl.doubtnut.com/l/_Pconwz3dg0Hn

graphically:

2r — 2y —2=0,4c — 4y — 5= 0.

o Watch Video Solution

14. Half of the prerimeter of a rectangular garden, whose length is

4 m more than its width is 36m. Find the dimensions of the garden.

o Watch Video Solution

15. Given the linear equation 2z + 3y — 8 = 0 write another linear
equation in two variables such that the geometrical representation
of the pair so formed is :

intersecting lines

° Watch Video Solution



https://dl.doubtnut.com/l/_Pconwz3dg0Hn
https://dl.doubtnut.com/l/_D0PVueqI6cX4
https://dl.doubtnut.com/l/_ztGdZivq6MV8
https://dl.doubtnut.com/l/_envUgLbBRkOl

16. Given the linear equation 2x 4 3y — 8 = 0 write another linear
equation in two variables such that the geometrical representation
of the pair so formed is :

parallel lines

° Watch Video Solution

17. Given the linear equation 2x 4 3y — 8 = 0 write another linear
equation in two variables such that the geometrical representation
of the pair so formed is :

coincident lines

o Watch Video Solution

18. Draw the graphs of the equations x-y+1=0 and 3x+2y-12=0.
Determine the coordinates of the vertices of the triangle formed

by these lines and the x-axis, and shade the traingular region.


https://dl.doubtnut.com/l/_envUgLbBRkOl
https://dl.doubtnut.com/l/_S1avL1xy358e
https://dl.doubtnut.com/l/_LQW0GVDQfwa2

o Watch Video Solution

1. Solve the following pair of linear equations by the substitution

method.
x+y=14
x—y=4

o Watch Video Solution

2. Solve the following pair of linear equations by the substitution

method.

o Watch Video Solution



https://dl.doubtnut.com/l/_LQW0GVDQfwa2
https://dl.doubtnut.com/l/_BKSCd4ikW6hn
https://dl.doubtnut.com/l/_A75To67d8pZt

3. Solve the following pair of linear equations by the substitution

method.
3r —y=3
9 — 3y =9

o Watch Video Solution

4. Solve the following pair of linear equations by the substitution
method.

0.2 + 0.3y = 1.3 and 0.4z 4 0.5y = 2.3

° Watch Video Solution

5. Solve the following pair of linear equations by the substitution

method.


https://dl.doubtnut.com/l/_A75To67d8pZt
https://dl.doubtnut.com/l/_tpi4LFB72Smf
https://dl.doubtnut.com/l/_mLriQUzYz7sb
https://dl.doubtnut.com/l/_71QBIbRlyv0o

o Watch Video Solution

6. Solve the following pair of linear equations by the substitution

method

3x 5y
—_——— = =2
2 3

x y 13
37276

o Watch Video Solution

7. Solve 2x 4+ 3y = 11 and 2z — 4y = — 24, and hence find the

volue of 'm' for which y = ma + 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_71QBIbRlyv0o
https://dl.doubtnut.com/l/_tAaOwRcFYBDu
https://dl.doubtnut.com/l/_IaSbfsJRdl6O
https://dl.doubtnut.com/l/_zOnjAiR1LaDh

8. From the pair of linear equations for the following problems and
find their solution by substitution method.
The difference between two numbers is 26, and one number is

three times the other. Find them.

o Watch Video Solution

9. From the pair of linear equations for the following problems and
find their solutions by substitution method.
The largest of two supplementary angle exceeds the smaller by 18

degrees. Find them.

° Watch Video Solution

10. From the pair of linear equations for the following problems
and find their solutions by substitution method.

The coach of cricket team buys 7bats and 6balls and Rs 3800. Later,


https://dl.doubtnut.com/l/_zOnjAiR1LaDh
https://dl.doubtnut.com/l/_LThRJ14azQHE
https://dl.doubtnut.com/l/_IeJd6KdG4WPX

she buys 3 bats and 5 balls for Rs 1750. Find the cost of each bat

and each ball.

° Watch Video Solution

11. From the pair of linear equations for the following problems
and find their solutions by substitution method.

The taxi charges in a city consist of a fixed charge together with
the charge for the distance covered. For a distance of 10km the
charge paid is Rs 105 and for a journey of 15km, the charge paid is
Rs 155. What are the fixed charge and the charge per km? How

much does a person have to pay for travelling a distance of 25km.

o Watch Video Solution

12. From the pair of linear equations for the following problems

and find their solutions by substitution method.


https://dl.doubtnut.com/l/_IeJd6KdG4WPX
https://dl.doubtnut.com/l/_8NgmYbreipcf
https://dl.doubtnut.com/l/_XgAdvANAvCr9

9
A fraction becomes 1 if 2 is added to both the numerator and
the denominator. If 3 is added to both the numerator and the

5
denominator it becomes E FInd the Fraction.

° Watch Video Solution

13. From the pair of linear equations for the following problems
and find their solutions by substitution method.

Five years hence the age of Jacob will be three times that of his
son. Five years ago , Jacob age was seven times that of his son.

What are their present ages.

° Watch Video Solution



https://dl.doubtnut.com/l/_XgAdvANAvCr9
https://dl.doubtnut.com/l/_Mczdn0z1pr6A

1. Solve the following pair of linear equations by the elimination
method and the substitution method.

x+y=>5and 22z — 3y =4

o Watch Video Solution

2. Solve the following pair of linear equations by the elimination
method and the substitution method.

3z + 4y = 10 and 22 — 2y = 2

° Watch Video Solution

3. Solve the following pair of linear equations by the elimination
method and the substitution method.

3r —5y—4=0and 9z =2y + 7

o Watch Video Solution



https://dl.doubtnut.com/l/_bYI6SfNGLn1T
https://dl.doubtnut.com/l/_7floT5hrzDeK
https://dl.doubtnut.com/l/_4EdMhlophtK9

4. Solve the following pair of linear elimination method and the

substitution method:

r 2y y
2+3— 1 and x 3—3

° Watch Video Solution

5. Form the pair of linear equations in the following problems, and
find their solutions (if they exist) by the elimination method :

If we add 1 to the numerator and subtract 1 from the denominator,
a fraction reduces to 1. it becomes — if we only add 1 to the

2

denominator. What is the fraction ?

o Watch Video Solution



https://dl.doubtnut.com/l/_4EdMhlophtK9
https://dl.doubtnut.com/l/_2DZ53h7jxYaG
https://dl.doubtnut.com/l/_xHDNahqKorz1

6. Form the pair of linear equations in the following problems, and
find their solutions (if they exist) by the elimination method :
Five years, ago Nuri was thrice as old as Sonu. Ten years later, Nuri

will be twice as old as Sonu. How old are Nuri and Sonu ?

o Watch Video Solution

7.Form the pair of linear equations in the following problems, and
find their solutions (if they exist) by the elimination method :

The sum of the digits of a two-digit number is 9. also, nine times
this number is twice the number obtained by reversing the order

of the digits. Find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_gkUQMZgXD4f6
https://dl.doubtnut.com/l/_0GquwOyntqzD

8. Form the pair of linear equations in the following problems, and
find their solutions (if they exist) by the elimination method :

Meena went to a bank to withdraw Rs. 2000. She asked the cashier
to give her Rs. 50 and Rs. 100 notes only. Meena got 25 nots. in all.

find how many notes of Rs. 50 and Rs. 100 she received.

o Watch Video Solution

9. Form the pair of linear equations in the following problems, and
find their solutions (if they exist) by the elimination method :

A leanding library has a fixed charge for the first three days and an
additional charge for each day thereafter. Sarita paid Rs. 27 for a
book kept for seven days, while Susy paid Rs. 21 for the book she
kept for five days. Find the fixed charge and the charge for each

extra day.

o Watch Video Solution



https://dl.doubtnut.com/l/_2JXhekJyjFJn
https://dl.doubtnut.com/l/_WApIj3pGwv7H

1. Which of the following pairs of linear equations has unique
solution, no solution, or infinitely many solution, no solution, or
infinitely many solutions. In case there is a unique solution, find it
by using cross multiplication method.

x—3y—3=0and 3x —9% —2=0

° Watch Video Solution

2. Which of the following pairs of linear equations has unique
solution, no solution, or infinitely many solution, no solution, or
ininitely many solutions. In case there is a unique solution, find it
by using cross multiplication method.

2x +y =5 and 3z,2y = 8

| ° Wiak~h \tAdAA CAlLiikiAan



https://dl.doubtnut.com/l/_WApIj3pGwv7H
https://dl.doubtnut.com/l/_RgBuYAodlvLK
https://dl.doubtnut.com/l/_phSSC92lifTz
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3. Which of the following pairs of linear equations has unique
solution, no solution, or infinitely many solution, no solution, or
ininitely many solutions. In case there is a unique solution, find it
by using cross multiplication method.

x—3y—7=0and 3x —3y—15=0

° Watch Video Solution

4. For which values of a and b does the following pair of linear
equatons have an infinite number of solutions ?
2 +3y="7

(a—bz+(a+by=3a+b—2

o Watch Video Solution



https://dl.doubtnut.com/l/_phSSC92lifTz
https://dl.doubtnut.com/l/_c8cVPzPiH6Yw
https://dl.doubtnut.com/l/_FEETQc4ATEXk

5. Find the value of k, if the pair of linear equations 2z — 3y = 8

and 2(k —4)x —ky =k +3

o Watch Video Solution

6. Solve the following pair of linear equations by the substitution
method.
x+y=14

T—y=

o Watch Video Solution

7.Form the pair of linear equations in the following problems and
find their solutions (if they exist) by any algebraic method :
A part of monthly hostel charges is fixed and the remaining

depends on the number of days on has taken food in the mess.


https://dl.doubtnut.com/l/_ggGpuGXX5QSQ
https://dl.doubtnut.com/l/_7I0Xo3Ld8c9q
https://dl.doubtnut.com/l/_NTJ40TZWafZb

When a student A takes food for 20 days she has to par Rs. 1000 as
hostel charges whereas a student B, who takes food for 26 days, Rs.
1180 as hostel charges. find the fixed charges and the cost of food

per day.

° Watch Video Solution

8. Form the pair of linear equations in the following problems and
find their solutions (if they exist) by any algebraic method :

A fraction becomes é when 1 is subtracted from the numerator
and it becomes 1 when 8 is added to its denominator. find the

fraction.

o Watch Video Solution

9. Form the pair of linear equations in the following problems and

find their solutions (if they exist) by any algebraic method :


https://dl.doubtnut.com/l/_NTJ40TZWafZb
https://dl.doubtnut.com/l/_EjwMifMEe63j
https://dl.doubtnut.com/l/_eDcUS4eANol0

Yash scored 40 marks in test, getting 3 marks for each right answer
and losing 1 mark for each wrong answer. Had 4 marsk been
awarded for each correct answer and 2 marks been deducted for
each incorrect answer, then Yash would have scored 50 marks. How

many questions were there in the test ?

o Watch Video Solution

10. Form the pair of linear equations in the following problems and
find their solutions (if they exist) by any algebraic method :

Places A and B are 100 km apart on highway. One car starts from A
and another form B at the same time. If the cars travel in the same
direction at different speeds, they meet in 5 hours. If they travel
towards each other, they meet in 1 hour. What are the speeds of

the two cars ?

o Watch Video Solution



https://dl.doubtnut.com/l/_eDcUS4eANol0
https://dl.doubtnut.com/l/_ydVtX9O0R08s
https://dl.doubtnut.com/l/_0TAXOJmyc92L

11. Form the pair of linear equations in the following problems and
find their solutions (if they exist) by any algebraic method :

The area of a rectangle gets reduced by 9 square units, if its length
is reduced by 5 units and breadth is increased by 3 units. if we
increases the length by 3 unit and the breadth by 2 units, the area

increases by 67 square units. Find the dimensions of the rectangle.

° Watch Video Solution

1. Solve the following pairs of equations by reducing them to a pair

of linear equations. :

° Watch Video Solution



https://dl.doubtnut.com/l/_0TAXOJmyc92L
https://dl.doubtnut.com/l/_EWcTCdnaeeGs
https://dl.doubtnut.com/l/_iGwMiuT6ERmT

2. Solve the following pairs of equations by reducing them to a pair

of linear equations. :

2 3 4 9

o Watch Video Solution

3. Solve the following pairs of equations by reducing them to a pair

of linear equations. :

4 3
;—|—3y:14and 3y=14and;—4y:23

o Watch Video Solution

4. Solve the following pairs of equations by reducing them to a pair

of linear equations. :

5 1 6 3
+ = 2 and — =1
x—1 y—2 z—1 y—2

° Watch Video Solution



https://dl.doubtnut.com/l/_iGwMiuT6ERmT
https://dl.doubtnut.com/l/_wnmfnNU6wKQn
https://dl.doubtnut.com/l/_VkXroYft9IGY

5. Solve the following pairs of equations by reducing them to a pair

of linear equations. :

7w—2y:5and 8x + Ty _

rY Ty

15

° Watch Video Solution

6. Solve the following pairs of equations by reducing them to a pair
of linear equations. :

6z + 3y = 6xy and 2z + 4y = bxy

o Watch Video Solution

7.Solve the following pairs of equations by reducng them to a pair

of linear equations. :

10 n 2 4 and 15 n 5 5
Tz +y r—4 an Tz +y r—vy

| e |


https://dl.doubtnut.com/l/_VkXroYft9IGY
https://dl.doubtnut.com/l/_DVvjNSHuW7kR
https://dl.doubtnut.com/l/_nQwg20QEu3Xy
https://dl.doubtnut.com/l/_eiwRPiTFo6kv

[ & Watch Video Solution ]

8. Solve the following pairs of equations by reducng them to a pair

of linear equations.:

1 n 1 3 4 1 1 -1
= — an —_— s
3z+y 3zx—y 4 23z +y)  2(3xz —vy) 8

° Watch Video Solution

9. Formulate the following problems as a pair of equations, and
hence find their solutions.

Ritu can row downstream 20 km in 2 hours, and upstream 4 km in 2
hours. Find her speed of rowing in still water and the speed of the

current.

o Watch Video Solution



https://dl.doubtnut.com/l/_eiwRPiTFo6kv
https://dl.doubtnut.com/l/_VxLZ0flNhQsT
https://dl.doubtnut.com/l/_cWwP9dqEg13z

10. Formulate the following problems as a pair of equations, and
hence find their solutions.

2 women and 5 men can together finish an embroidery work in 4
days, while 3 women and 6 men can finish it in 3 days. Find the time
taken by 1 woman alone to finish the work, and also that taken by 1

man alone.

o Watch Video Solution

11. Formulate the following problems as a pair of equations, and
hence find their solutions.

Roohi travels 300 km to her home partly by train and partly by bus.
She takes 4 hours if she travels 60 km by train and the remaining
by bus. If she travels 100 km by train and the reamining buy bus,
she takes 10 minutes longer. Find the speed of the train and the

bus-separately.



https://dl.doubtnut.com/l/_JO5tVIWyKSR0
https://dl.doubtnut.com/l/_CO6fdBI3ex5I

[ @ \Watch Video Solution ]

1. The ages of two friends Ani and Biju differ by 3 years. Ani's -father

Dharam is twice as old as Ani and Biju is twice as old as his sister
Cathy. The ages of Cathy and Dharam differ by 30 years. Find the

ages of Ani and Biju.

° Watch Video Solution

2. One says, "Give me a hundred, friend! | shall then became twice
as rich as you". The other replies, If you give me ten | shall be six
times as rich as you". Tell me what is the amount of their

(respective) capital? [From the Bijaganita of Bhoaskara I1].

o Watch Video Solution



https://dl.doubtnut.com/l/_CO6fdBI3ex5I
https://dl.doubtnut.com/l/_qlj1mXydG8E3
https://dl.doubtnut.com/l/_KdyFfsGg06ez

3. A train covered a certain distance at a uniform speed. If the train
would have been 10 km/hr faster, it would have taken 2 hours less
than the scheduled time. And, if the train were solwer by 10 km/hr,
it would have taken 3 hours more than the scheduled time. Find

the distance. covered by train.

o Watch Video Solution

4. The students of a class are made to stand in rows. If 3 students
are extra in a row, there would be 1 row less. If 3 students are less
in a row, there would be 2 rows more. Find the number of students

in the class.

o Watch Video Solution

5.lna AABC, /C = 3/B = 2(£LA + £B).Find the three angles.



https://dl.doubtnut.com/l/_HWu90xzpkJbk
https://dl.doubtnut.com/l/_B6jdwTuZIAif
https://dl.doubtnut.com/l/_71e7yPmAJqmA

| o Watch Video Solution

6. Draw the graphs of the equations b2 —y =5 and 32z —y =3
Determine the coordinates of the vertices of the triangle formed

by these lines and the y-axis.

° Watch Video Solution

7.Solve the following pair of linear equations :

pr+qy=p—qand gqr —py=p-+gq

° Watch Video Solution

8. Solve the following pair of linear equations :

ar +by=cand bx +ay=1+c

o Watch Video Solution



https://dl.doubtnut.com/l/_71e7yPmAJqmA
https://dl.doubtnut.com/l/_73X149iAelVD
https://dl.doubtnut.com/l/_TqHC2MaLxKs3
https://dl.doubtnut.com/l/_MYx8eZRUMokq

9. Solve the following pair of linear equations :

Y

%—3:Oandax—|—by:a2—|—b2

o Watch Video Solution

10. Solve the following pair of linear equations :

(a —b)z + (a + b)y = a* — 2ab— b* and (a + b)(z + y) = a® + b?

° Watch Video Solution

11. Solve the following pair of linear equations :

1522 — 378y = — 74 and — 378z + 152y = — 604

o Watch Video Solution



https://dl.doubtnut.com/l/_MYx8eZRUMokq
https://dl.doubtnut.com/l/_YTfHwvXiJfhd
https://dl.doubtnut.com/l/_SKvbov7J0AFL
https://dl.doubtnut.com/l/_wrwz4e9oKSp9

12. ABCD is a cyclic quadrilateral. Find the angles of the cyclic

quadrilateral.

° Watch Video Solution



https://dl.doubtnut.com/l/_rk0SXQASgQmp

